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e 8,238 1,059 7,179 102,612 6,303 67,874 6.5 0.8 5.7 81.3 53.8
it bl 1 547 68 479 3,351 374 2,840 10.5 1.3 9.2 64.1 54.4
H s 94 17 77 862 130 511 7.6 1.4 6.2 69.6 41.3
= + 92 15 77 877 91 566 7.6 1.2 6.4 72.4 46.8
= I 136 27 109 1,686 112 1,052 5.9 1.2 4.7 73.2 45.7
FK H 66 16 50 805 52 426 6.9 1.7 5.2 83.9 44 .4
il i 67 14 53 910 56 476 6.3 1.3 5.0 85.2 44.6
& = 125 23 102 1,325 84 846 6.8 1.3 5.6 72.3 46.2
K I 173 20 153 1,743 117 1,375 6.0 0.7 5.3 60.8 48.0
i N 104 17 87 1,458 105 962 5.4 0.9 4.5 75.4 49.8
iz 5 128 13 115 1,560 71 979 6.6 0.7 5.9 80.4 50.5
By * 342 46 296 4,383 199 3,542 4.7 0.6 4.0 59.7 48.2
+ e 289 34 255 3,780 159 3,169 4.6 0.5 4.1 60.1 50.4
W by 638 50 588 13,889 322 10,642 4.5 0.4 4.2 98.9 75.8
e %= JI 336 47 289 6,907 185 4,959 3.6 0.5 3.1 74.8 3.7
Hr 5 125 20 105 1,653 44 1,132 5.7 0.9 4.8 75.1 51.4
E H 106 19 87 759 33 442 10.2 1.8 8.4 73.3 42.7
A JI 91 13 78 869 60 481 8.0 1.1 6.9 76.7 42.5
& JI 67 10 57 573 58 301 8.7 1.3 7.4 4.7 39.3
i £l 60 8 52 697 35 432 7.4 1.0 6.4 86.1 53.3
= Hy 126 15 111 1,564 63 1,001 6.2 0.7 5.4 76.4 48.9
iz B 97 12 85 1,610 123 958 4.9 0.6 4.3 81.4 48.4
i [it] 171 31 140 2,715 164 1,750 4.7 0.9 3.9 4.7 48.2
= K0 321 37 284 5,463 282 3,712 4.3 0.5 3.8 72.4 49.2
= B 93 12 81 1,504 81 816 5.3 0.7 4.6 85.0 46.1
i ® 57 7 50 1,100 36 559 4.0 0.5 3.5 77.8 39.5
= B 163 11 152 2,449 74 1,289 6.3 0.4 5.9 95.0 50.0
K . 512 39 473 8,534 204 5,438 5.8 0.4 5.4 96.6 61.5
e Jii 347 33 314 5,149 182 2,970 6.3 0.6 5.7 94.2 54.3
= B 75 4 71 1,214 34 679 5.7 0.3 5.4 91.7 51.3
Fn ¥ 1] 83 8 75 1,022 55 526 9.0 0.9 8.1 110.8 57.0
=" X 43 4 39 490 37 253 7.8 0.7 7.0 88.5 45.7
=) Ui 47 9 38 705 40 257 7.0 1.3 5.7 105.0 38.3
[if] 1l 161 16 145 1,637 139 996 8.5 0.8 7.7 86.7 52.7
Jis = 237 31 206 2,533 176 1,527 8.5 1.1 7.4 90.5 54.5
il M 142 28 114 1,240 99 652 10.6 2.1 8.5 92.4 48.6
7 = 107 15 92 708 85 426 14.9 2.1 12.8 98.4 59.2
& JI 88 11 77 828 88 469 9.3 1.2 8.1 87.1 49.4
= % 134 13 121 1,213 139 657 10.0 1.0 9.1 90.9 49.2
= bl 122 11 111 533 70 354 17.6 1.6 16.1 7.1 51.2
& [itd] 456 63 393 4,711 477 3,051 8.9 1.2 7.7 91.7 59.4
1 = 100 14 86 691 142 409 12.3 1.7 10.6 85.2 50.4
Bs i 148 28 120 1,348 219 716 11.3 2.1 9.1 102.7 54.6
A /N 208 38 170 1,473 276 838 12.0 2.2 9.8 84.7 48.2
N 45 153 25 128 939 224 535 13.6 2.2 11.4 83.6 47.6
= (53 137 17 120 894 140 499 12.8 1.6 11.2 83.6 46.7
22} 7 = 234 37 197 1,368 298 797 14.7 2.3 12.4 86.1 50.2
I e 90 13 77 890 69 607 6.1 0.9 5.2 60.6 41.4
O A O X ER 419 12 407 10,720 229 8,283 4.3 0.1 4.2 110.1 85.1
AL % izl 202 24 178 1,375 137 1,205 10.2 1.2 9.0 69.7 61.1
A1l = Ol 56 9 47 939 44 597 5.1 0.8 4.3 85.6 54.4
X W 2 F M 39 4 35 981 31 690 2.9 0.3 2.6 74.1 52.1
+ 1 it} 46 6 40 710 34 548 4.7 0.6 4.1 72.8 56.2
i b= izl 131 19 112 3,058 70 2,101 3.5 0.5 3.0 81.0 55.6
JI 5 Ol 39 6 33 1,023 26 757 2.5 0.4 2.1 66.5 49.2
% I N S ] 35 3 32 428 9 363 4.8 0.4 4.4 59.0 50.0
18 Hr =) [l 44 7 37 645 18 490 5.6 0.9 4.7 81.7 62.1
- | [if] izl 27 5 22 548 22 343 3.9 0.7 3.2 79.0 49.5
2 iz /N il 32 7 25 649 36 386 4.0 0.9 3.2 82.1 48.8
T4 & B M 123 10 113 2,148 84 1,435 5.3 0.4 4.8 92.1 61.5
%E Py 4l il 96 6 90 1,594 42 811 6.6 0.4 6.1 108.9 55.4
i x 3 il 176 1 175 3,489 69 2,179 6.4 0.0 6.4 126.8 79.2
P Ol 43 4 39 742 24 477 5.2 0.5 4.7 89.8 57.7
A &l Ozl 108 11 97 1,597 51 936 7.1 0.7 6.4 104.7 61.4
[if] H i 56 6 50 694 66 443 7.7 0.8 6.9 95.8 61.1
N = i 84 9 75 1,198 77 687 7.0 0.7 6.2 99.8 57.2
. S M T 91 14 77 944 82 637 9.7 1.5 8.2 100.5 67.8
& fif] it} 114 13 101 1,598 126 1,025 7.1 0.8 6.3 99.1 63.6
fiE A il 95 16 79 642 114 405 12.9 2.2 10.7 86.9 54.8
B JI Ol 39 3 36 225 29 171 11.8 0.9 10.9 68.3 51.9
[E3] fiF Ozl 27 1 26 207 22 126 10.8 0.4 10.4 82.4 50.2
H e [l 20 4 16 211 29 132 7.3 1.5 5.8 76.7 48.0
J\ = izl 21 5 16 162 24 94 9.4 2.2 7.2 72.5 42.1
i fif] i 27 5 22 262 29 196 9.3 1.7 7.6 90.4 67.6
K H Ol 22 7 15 277 16 160 7.2 2.3 4.9 90.0 52.0
H Vi [l 17 4 13 248 10 141 6.9 1.6 5.3 100.2 56.9
AB (i il 22 3 19 231 15 171 6.7 0.9 5.8 70.5 52.2
Wb X 26 6 20 248 18 160 7.8 1.8 6.0 74.5 48.1
& = Ozl 21 6 15 250 17 138 7.4 2.1 5.3 88.4 48.8
7K = i 25 1 24 243 16 162 9.2 0.4 8.9 89.8 59.8
FOHA T W 30 5 25 430 34 308 5.8 1.0 4.8 82.9 59.4
i & il 20 2 18 337 17 201 6.0 0.6 5.4 101.5 60.5
= i i 26 1 25 349 20 202 7.0 0.3 6.7 93.6 54.2
JI| i [zl 26 6 20 208 11 184 7.3 1.7 5.6 58.7 51.9
it w il 15 3 12 184 13 169 4.4 0.9 3.5 53.9 49.5
JI [} il 20 1 19 326 12 280 3.4 0.2 3.2 54.9 47.1
e & [l 22 3 19 358 7 314 3.4 0.5 3.0 55.7 48.8
A il 18 2 16 255 6 215 4.2 0.5 3.8 59.8 50.4
N F F 38 7 31 379 16 288 6.6 1.2 5.4 65.4 49.7
B OZH OB 12 - 12 306 16 221 3.1 - 3.1 78.9 56.9
= H [l 46 7 39 340 14 187 11.1 1.7 9.4 82.1 45.2
4 N izl 44 7 37 412 29 225 9.5 1.5 8.0 88.9 48.6
& JI Ol 27 4 23 260 32 138 10.3 1.5 8.8 99.1 52.6
H HF Ol 14 3 11 221 14 132 7.4 1.6 5.8 116.6 69.6
3= S [l 25 2 23 284 16 205 6.7 0.5 6.2 76.2 55.0
53 B il 32 3 29 397 35 259 7.9 0.7 7.2 98.6 64.3
[ & il 21 4 17 254 16 178 5.6 1.1 4.6 68.3 47.9
% o HH i 18 4 14 229 9 145 4.3 0.9 3.3 54.2 34.3
M ] iy il 15 2 13 235 12 160 3.9 0.5 3.4 61.1 41.6
% N i il 15 2 13 296 11 141 4.3 0.6 3.8 85.8 40.9
B = i) Ol 19 3 16 292 7 184 5.4 0.9 4.5 82.8 52.2
—|® K Pk T 21 2 19 400 8 290 4.3 0.4 3.8 81.0 h8.7
& H il 19 2 17 415 8 246 4.7 0.5 4.2 103.3 61.3
e )5 i 25 2 23 282 12 210 6.3 0.5 5.8 71.0 52.9
\ == il 11 1 10 212 10 138 4.2 0.4 3.8 80.1 5h2.1
g =2 JiI m 14 1 13 186 3 121 6.1 0.4 5.7 81.0 2.7
/N H izl 15 1 14 349 3 197 3.9 0.3 3.6 90.5 51.1
i} & Ol 35 3 32 410 21 281 6.6 0.6 6.0 77.3 53.0
[z} = Ozl 25 2 23 539 12 277 5.1 0.4 4.7 111.0 57.0
JB 5 [l 24 - 24 501 13 245 5.2 - 5.2 109.0 53.3
B A izl 21 2 19 254 13 150 6.9 0.7 6.3 83.7 49.4
%= B Ol 22 1 21 390 8 185 6.2 0.3 5.9 110.0 52.2
fooo# o 37 3 34 424 26 226 10.4 0.8 9.5 118.9 63.4
=) B [t} 12 2 10 159 11 96 6.4 1.1 5.3 84.4 50.9
VYN MR Ol 11 3 8 217 12 77 5.4 1.5 3.9 106.6 37.8
=) b Ol 36 4 32 348 19 225 7.6 0.8 6.7 73.3 47.4
& H i 41 5 36 341 32 228 8.9 1.1 7.8 74.0 49.5
" il 26 5 21 218 15 142 12.1 2.3 9.8 101.6 66.2
T 3] Ol 26 5 21 268 30 138 10.2 2.0 8.2 105.1 54.1
= Ui/ il 34 4 30 405 50 233 8.1 1.0 7.2 97.0 55.8
VYN [ i 41 5 36 488 68 252 8.0 1.0 7.0 95.5 49.3
i yll izl 61 7 54 256 35 194 18.7 2.1 16.5 78.4 59.4
/R B S ] 32 5 27 312 50 192 10.6 1.6 8.9 102.9 63.3
£ 7y [l 46 9 37 521 61 267 11.2 2.2 9.0 127.3 65.3
e it R T 24 6 18 221 47 130 9.9 2.5 7.4 90.9 3.4
N i Ol 53 12 41 380 92 228 11.1 2.5 8.6 79.9 47.9
= 7 il 39 5 34 380 52 229 9.7 1.2 8.5 94.7 57.1
oIR8 87 12 75 528 100 370 14.7 2.0 12.6 89.0 62.4
A i il 17 2 15 274 24 180 5.4 0.6 4.7 86.3 56.7
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